BE#BAZHRABRR [RXE]

FH GREE ZEREL BIEER REEX
I G — — — —
B A2 R 2 2 2 1.0
HAX FH 1 1 1 1.0
HEBALER - — — —
FRER D EF R 1 1 1 1.0
RERUFH — — — —
&t 4 4 4 1.0
BoHBAZHRAHRE [EEHR]
FHR GREE ZEREL BB EEEX
BAXFHR (F8) 7 7 6 1.2
&t 7 7 6 1.2
BoHEAZHRADRE [ERFHE]
i TREEH ZEREH AEEH EEEE
LR 1 1 1 1.0
H A s 15 15 15 1.0
H A F R 8 8 8 1.0
HeEuEFR 13 13 12 1.1
FRER DR 16 16 15 1.1
RERBUFHR 12 12 11 1.1
Gl 65 65 62 1.1
BCHBAZHRBARE [ERzHE]
FH SREE ZEREL EIEEH RHEEX
L ZER 4 4 4 1.0
H A2 10 10 10 1.0
H A R 7 7 7 1.0
HaEuEFR 11 11 11 1.0
FRR D EZ R 15 15 15 1.0
RERUFR 9 9 9 1.0
= 56 56 56 1.0
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